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g & | qleef 0@ yel § @ FaeT Uh Y97 BT & I G /

(viil) 39 J97-97 7 q/Gla 3Teia 397 41 8 /|

1. (%) fF=faRaa weum o1 sifae fag il

“Fra o T & Tagrai % 3TaTa, Ul YR i fedfd @1 g1 T
YIS I 7 17

HAAAT

(@) “erifess st T vHt feufd 8, S8l & & & =g 9 aem
fth I TalcId FSIgl & W M A& (Herdt & |7 1 379 S Y e
T TgAd 7 ? 989 ¥ Tuse I |

2. (F) ‘ol SHEEA U@ I IRATNG HINT I $HAI ITANIAT T Ieai@
i |

HAYAT
(@) TE® 3dTh o TN & feheal g1 BN JHTE! &1 Seci@ hHIT |

3. fo-ges stdfouacen o guu #i & forelt ush gesh w1 Ieor@ 9 fad=q hifvw |

4.  TH Dlod-eh ATTEEAT o ToIU 3 & Tqad TR hl MM shifow, afe I8 fean
TIEIT@%:

(&) 3'3|‘iﬁ'1'[‘ ®ad, C=400+06Y
&l C =399, Y = 3

(@) w@rEE W (1) = T 2,000 FUS
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 13 questions.

(it)  All questions are compulsory. Marks are indicated against each question.

(iti) This question paper contains 5 questions of 2 marks each, 5 questions of
3 marks each and 3 questions of 5§ marks each.

(iv) 2 marks questions are Short Answer Type Questions and are to be
answered in 30 — 50 words each.

(v) 3 marks questions are also Short Answer Type Questions and are to be
answered in 50 — 80 words each.

(vi) 5 marks questions are Long Answer Type Questions and are to be
answered in 80 — 120 words each.

(vii) There is no overall choice in the question paper. However, internal choices
have been provided in few questions. The candidates need to attempt only
one question from such questions.

(viii) This question paper contains Case/Source Based Question also.

1. (a)  Justify the following statement :

“Full employment is an essential condition to be fulfilled under

Keynesian Economics Principles.” 2
OR
(b)  “Involuntary Unemployment is a situation where an able bodied
person unwilling to work does not get work at the prevailing wage
rate.” Do you agree with the given statement ? Elucidate briefly. 2
2. (a)  Define ‘Worker Population Ratio’ and mention its utility. 2
OR
(b)  State any two harmful effects of using chemical fertilizers. 2
3. State and discuss any one component of Aggregate Demand in a
two-sector economy. 2
4, Calculate the Equilibrium level of Income for an imaginary economy, if it

is given that :

(a)  Consumption function, C =400+ 06 Y

where C = Consumption, Y = Income

(b)  Autonomous Investments (I ) = ¥ 2,000 crore 2
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5. (%) Youatda fafa g Usd 3T 1 Aeheld id 0T TIAE W arel
gl @ Traenf &1 Seoi@ HifST |
CDE|
(@) o fafy gro st =1 &1 ATehe i THT AUATS ST dTedt fohegl al
graeTf== &1 Seoi@ i |

6. ‘TP woule adegarr U, g Mg s=a Faifsa few @ w9 @, @

USR 9 3™ § At 3t 3 17
7 379 feu U e ¥ HgHd @ ? 3fd TSRl g 379 IR T gHeH
it |

7. Tafafaa stfest & smar W, yra 9 =7 i sreleyaraneti & fhdl e AHeet

<! G HITT :

%.4. | Te I iG]
(i) |¥ma faeE g=ee (HDI) (o) | 0-609 0-727
i) | HDI (%) 130 90
(iii) | 9 % T9 Sfiad JwT (a9 H) | 682 758

i Sk Hehel TS 3cUTG

5,730 13,572
(GDP) (PPP $ US) ’ ’

(iv)

gid : HDI R91d 2014 w9 WDI

8. (%) UHh IUYH 3G H1 IFAN Hd Y, QU THAT hl THET T H&9 §
T4t HIT |

HAAAT

(@) Uh INYh GEATCH IS Sl ITINT Hd U, ATloreh Fohel BT 3G
(Real GDP) d Tifgh Tohal M 341G (Nominal GDP) & & 3T

e HIY |

9. ThHifqel JIdUA Hl IR KT | Ico@ it o5 e JR T
NJATAT T heg Sieh fohelt Hifgep ifd 3T 1 AT ek Thifaprl Taua
<1 gftfeafa s A s gear 2 |
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5. (a)  State any two precautions to be adopted while estimating National

Income by Value Added Method. 2
OR
(b)  State any two precautions to be adopted while estimating National
Income by Income Method. 2
6. “In a hypothetical economy, planned savings fall short of planned

investments, leading to fall in employment and income.”

Do you agree with the given statement ? Support your answer with a

valid explanation. 3
7. Based on the given data, compare any two parameters for the economies
of India and China : 3
S. . .
Items India | China
No.

(i) | Human Development Index (HDI) (Value) 0-:609 | 0-727

(ii) | HDI (Rank) 130 90
(iii) | Life Expectancy at Birth (in years) 68:2 75-8
(iv) | GDP per capita (PPP $ US) 5,730 | 13,572

Source : HDI Report 2014 & WDI

8. (a)  Discuss briefly the problem of ‘Double Counting’, using a suitable

example. 3
OR
(b)  Distinguish between Real Gross Domestic Product and Nominal
Gross Domestic Product, using a suitable numerical example. 3
9. Define Inflationary Gap. State, how the Central Bank of an economy can

control the situation of inflationary gap, using any monetary policy

measure. 3
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“rg T TIfREd™ T Uk &1 GHI W 379 foehtE am sty iy oft, fw
off ST STefeTEEATa 4 gUh-gUE AT a9 i 7 |7
o= ehi gRT feU 7T e &t gfte hifv |

If¢ = faty v o1 fafer g aree ArTa W gehdl wie] 3791g (GDPg,) 1 43
T 920 S 7, I U AT (?) Tl A RN

%.49. | " ( ﬁg S
(i) | S Al ITH = ?
i) | S=TEd STfR ?
(ii) | Fohct wRe] TAr geft fwi 250
(iv) | ==-Feifaat 6 fafsa om 210
(v) | %% o ufgdd 120
(vi) | AT St T STH 140
(vii) | PHETRET T ITRfHeh 420
(viii) | et Stfaw 3awm == 540
(ix) |Gg Frafd () 60
(x) | UG AT °hl 80
(xi) | GRS GRa ATt § e &1 JreH 130

(®) 1) Te=faRaa &1 9 Tas .
(I) Sfeesh Torar IR
I) JF R
Gi) H89 ¥ == Hife for Fafia Jaaarh o 4 afgad w1 =i
Bt 7 |

arerat
(@) () e Hifve fe gremem: et aqaarf sdenfen it aen
wglt @t | grefter St b g o SAfeek i Bt ® |
(i) YA H HESH e @A JUTel i fohral @l &F shiHal
1 ool HINT |
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10. “India and Pakistan initiated their journey of development, nearly at the
same time, yet the two economies have travelled different distances.”

Justify the given statement with valid arguments. 3
11. Estimate the missing values (?), if the value of Gross Domestic Product at
factor cost (GDPyg.) by Expenditure Method and Income Method is
T 920 crore : 5
S. It Amount
No. ems (in T crore)
(1) Government Final Consumption Expenditure ?
(ii) | Operating Surplus ?
(iii) | Gross Domestic Fixed Capital Formation 250
(iv) | Mixed Income of Self-employed 210
(v) | Change in Stock 120
(vi) | Consumption of Fixed Capital 140
(vii) | Compensation of Employees 420
(viii) | Private Final Consumption Expenditure 540
(ix) | Net Exports (-) 60
(x) | Net Indirect Taxes 80
(xi) | Employers’ Contribution to Social Security Schemes 130
12. (a) (@) State the meaning of the following :
(D Global burden of disease 1
(I) Mortality Rate 1
(i1)  Discuss briefly, why less women are found in regular
salaried employment. 3
OR
(b) @) Explain why regular salaried employees are generally more
in urban areas than in rural areas. 3
(ii)  State any two main drawbacks of public health care system
in India. 2
i
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HA/"Eq TG 994

[HeleTaa e &1 qYaE 9gT | 1T T T g GIEI [ad% & STYR W e
ger 13 (&) 713 (@) 3 7 T -
Y 2020 T IRY, el TS H Th IR B ATt AW % w1y g, SEw vom
qfth o hRIhdIAl o Hhifae-19 & HHd S ! g & [T 379 JIH U |
HEERI = refeawe iR diiieh &5 H s YR shi GWeAN 3cqd hl off |
T 4, g T W, g9Ieg aliehl 8 TR o1 Ifd-3o fea |

YA H 9 & 1:5% § ol 7 @I | 9Ra A9 garet Aifa-ufafsranst & wro
ANl AN hl T sEE O 9EW W@ | 2020 — 21 H HEWEH ST omeneT o

qTATSG] o RN TSR] o JHEM hl HH i o [T AESIHS &9 H Jhg

1 TS off |

?ﬂ?'l'lﬁi?ﬂﬁ A9 § ifed &9 H %W(Gig Economy)’ﬂm%@ﬂﬁﬁ
&M (Work From Home) ¥ dgfg <&l 78 § | &4 2 9 da&01 (PLFS)
I 2018 - 19 % AR, 2017 — 18 & 47-14 HUS HAANT Hl a1 |
2018 — 19 H FGH FA 4878 HUg FHAA! I T g3 ol | 38 5 §U
1-64 HUS HETA H § 1-22 S T &1 T 0-42 S T8l & H o |

Afgell 98 ol <hl WTERT e 2017 — 18 H 17-5% ¥ o 2018 — 19 | 18-6%
g T off | 20 feger, 2020 T HHAW 9fasy ffg @red (EPFO) & g Jaq
(W) 3Afhs 2018 — 19 H 611 NG <l 319&T 2019 — 20 H 78-58 TG & AU
T&eh! <l g Jlg TSRIT *d & | PLFS Ui 4 +ff 2019 — 20 1 =ieft fomml
& gaT § 2020 — 21 1 =reft foume ° gar foam ® |

&Y R % FIIT Hl AH H T@d U, HThEHh FHAN hl H&AT § 1%
HH! g3, Talch T-MHANQI o S HH=1E | A 0-6% TAT 0-4% hi dlg
T 8 | 3 TR, uieen wrEed % Hed §, WAl § 2% H Ifg @ e,
Frafia /aaaarft =it 4 0-7% 9 TRy wHETiEl § 14% i SHHT 378
2 |

GIT : 3TIH TALTTT 2020 - 21, 51T @8, 7T 10 (3737
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Case/Source Based Question

Read the following text carefully. Answer questions number 13 (a) and 13 (b) on
the basis of the given text and common understanding :

Year 2020 began with the once-in-a-century pandemic, which saw the
frontline workers working tirelessly to save human lives from COVID-19.
The pandemic caused its ripples on the economy and on social sectors.
Governments, at all levels, intervened in a timely manner to respond to
the pandemic.

India has one of the lowest case fatalities rates of less than 1-5%. India
has been able to save lakhs of lives through its effective policy responses.
Public spending on social sector was increased in 2020 — 21 to mitigate
the hardships caused by the pandemic and the loss to livelihood due to
the lockdown.

The lockdown period saw the growth of the ‘gig economy’ and increasing
‘work from home’ in the organised sector. As per the Periodic Labour
Force Survey (PLFS) report 2018 — 19, there was an increase in
workforce totalling 48:78 crores in 2018 — 19 as compared to 47-14 crores
during 2017 — 18. Out of 1:64 crores increased workforce, 1:22 crores were
in rural sector and 0:42 crores in urban sector.

The female labour force participation rate increased from 17-5% in
2017 -18 to 18:6% in 2018 — 19. The net payroll data of Employees’
Provident Fund Organisation (EPFO) as on 20th December, 2020 shows a
net increase of new subscribers of 78-58 lakhs in 2019 — 20 as compared
to 61-1 lakhs in 2018 — 19. The PLF'S report also showed improvement in
2020 — 21 (Quarter 4) when compared to 2019 — 20 (Quarter 4).

Considering the proportion of the male workforce, casual labour
decreased by 1% points, while self-employed and salaried workers
increased by 0-6% points and 0:4% points respectively. Similarly, in case
of female workforce, self-employed increased by 2% points, regular/wage
salaried workers decreased by 0-7% points and casual labour decreased
by 1:4% points.

Source : Economic Survey 2020 — 21, Volume II, Chapter 10 (excerpt)
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13.

(F) a9 2020 —21 1 =teft ol o foTu, YA o SRiea i Sehid/faaon &
gty il |

(@) #Em{ o gouEl i b s % g @R gry 331 Y fohegl @

el o1 3eai@ d fad=d hIfVT |
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13.

(a)

(b)

Analyse the nature/distribution of Indian workforce for the fourth

quarter of the year 2020 — 21.

State and discuss any two initiatives taken by the Government to

control the adverse impacts of the pandemic.
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